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LGICISRECHE
freferfga fréer =1 sga araur & ufew 3R 3 JTeH $Hifvw :
(i)  Yo7-97 °R GUS] F @i [ g -, @, mua a
57 J97-97 4 o7 40 F97 8 | @ 397 374 & |
(i) TUE-& F I97 GEIT1 G20 T%F 20 97 8 0 II% J97 Uk 375 BT 8 |
(iii) @UE-& 7 597 G771 21 & 26 7% 6 Y77 & Ud Jedieh J97 3 bl FH & |
(iv) @US-T 5 J57 G&I727 G 34 T 8 J97 & Td i Jo7 did-31%] H1 8 |
(v) @UE-T 5 T GEI135 @40 T 6 F97 8 T Icdeh Jo4. 9 Hebl H1 8 /|
(vi)  FH-YF 7 GHY T BIE faey 75T 8 | T UE-Th S qret @ Jo A, @l-g) il
1t g Jo ) B, a7 I Fre @7 JeTE, GR-TR 3] It i Fe) 4 SR
faweq 13T 7T & 1 08 771 B beiet vah & faeheq @l I [o719T |
(vii) Wﬁﬁwwmwaﬁrmiwwﬁ%ﬁ%@qwﬁ/
(viii) Wa%g@ﬁmﬁaﬁ?/
Q\Q
% e -
e HEAT 1 —10 T Sgloashed! T4 8 {50 ek &1 1 37 7 | 98 forehed gHT |

1. 23 1 TS THR CIHAS o feha TATHT o ST Tid BT 7

25><52

(a) 2 (b) 4 () 5 d 1 1

2. T A HTd ATCl SgUE oh I[AehI hi ITTIhaH TR -
(a) 1 (b) 4 (c) 2 (d) 3 1
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General Instructions :

Read the following instructions very carefully and strictly follow them :
(i) This question paper comprises four sections — A, B, C and D.
This question paper carries 40 questions. All questions are compulsory.

(it) Section A — Question no. 1 to 20 comprises of 20 questions of one mark
each.

(iti) Section B — Question no. 21 to 26 comprises of 6 questions of two marks
each.

(iv) Section C — Question no. 27 to 34 comprises of 8 questions of three
marks each.

(v) Section D — Question no. 35 to 40 comprises of 6 questions of four
marks each.

(vi) There is no overall choice in the question paper. However, an internal
choice has been provided in 2 questions of one mark, 2 questions of two
marks, 3 questions of three marks and. 3 questions of four marks. You
have to attempt only one of the choicesin such questions.

(vii) In addition to this, separate instructions are given with each section and
question, wherever @essary.

(viii) Use of calcula@ 1s not permitted.
NS
@Q\Q
N Section - A
Question numbers-1 to 10 are multiple choice questions of 1 mark each.
Select the correct option.

1. The decimal expansion of will terminate after how many places of

25 x 52

decimal ?

(a) 2 Ob) 4 © 5 @ 1 1

2.  The maximum number of zeroes a cubic polynomial can have, is

(a) 1 (b) 4 (c) 2 (d 3 1

| .430/2/3. 3 P.T.O.
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3. G TH I 15 (3, 5) 2 AT Th AT o 374 169G (4, 7) TAT(2, y) &, Ay HIAA S :
(a) 3 (b) -3 () 7 (d) 4 1

4, T ek T I1Y 3BT M | 31feres B 31feres weh s 319 S TiRekar 2

1 1 2 3

(a) 1 (b) 9 () g (d) 1 1
5. 23 T*

(a) T 2 | (b) ufE= gE 3|

(c) ITHT TEATR | (d) T qUi HEAE | 1
6.  Horl SRS SROM 1 ST BT & d L H -

(a) " OR:UZED (c) ¥gAH (@) =eft o 1

&

7. TSI HIAE. ( 27 2 au 3h1 1.9, (LCM) 162 ® | afe s T@=A1 54 &,

ol T 2 @Q

$
(a) 36 (b) 35 © 9 (d) 81 1

8. fagati A(2, =8) 71 B(5, 6) i fieT™ aTel {WTEUS i x-3& & UG | diedl 8, 98
2

(a) 2:3 (b) 3:5 () 1:2 (d 2:1 1
9. afeugUE ka? + 2x + 3k % I[hI 1 I Ik UG o SUSK &, Tl k S 7
1 1 2 2

(a) 5 (b) —g (c) g (d) —g 1

.430/2/3.] 4
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3.  If the centre of a circle is (3, 5) and end points of a diameter are (4, 7) and
(2, y), then the value of y 1s

(a) 3 (b) -3 © 17 d) 4 1

4. Two coins are tossed simultaneously. The probability of getting at most

one head is
1 1 2 3
= b) — = d — 1
(a) 1 (b) 5 (c) 3 (d) 1
5. 243 is
(a) an integer (b) a rational number
(¢) an irrational number (d) a wholenumber 1

6. The cumulative frequency table is useful in determining

(a) Mean (b) Median

$
(¢) Mode g&\ (d) All of these 1
S
NG

7. HCF of two @&bers 1s.27 and their LCM 1s 162. If one of the number is

54, then thedther number is

(a) 36 (b) 35 () 9 (d) 81 1

8.  x-axis divides the line segment joining A(2, —3) and B(5, 6) in the ratio :
(a) 2:3 (b) 3:5 (c) 1:2 d 2:1 1

9.  If the sum of the zeroes of the quadratic polynomial kx? + 2x + 3k is equal
to their product, then k equals.

1 1 2 2
‘Mfi)— g (b) — 5 (© g (d) - g 1

" as0r2is] 5 PO
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10. 10 9t e aTct I <l Woh STIa 3 o ohvg 9L FHGRIVT START il &, Tl SHal hl 768 &
5

(a) % (b) 5~/2 (© 1042 (d) 1043 1

¥ EE 11 8 15 H fear v 6 gfd Hifv -
11. (tan260° + sin245°) HTAM & 1
12. o 99ed By <l GTa YSaT § 3 : 4 1 37U &, A 3PS o &Fhal ol ST

H 1
13. foumd afiehtr 42 — x — 6 = 0 % 4l o OH gl 1
14. & forg aen fegati (4, 0) T (0, 6) § S+ TSl 6T &%t 3 . 1

AU
figal A(L, 3) o1 B4, G0N frcf 10 Yarte 1 2 - 1 for ot vt fig
g ¥ NS 1
\Q‘Z}
@Q

15. sin 0 @‘?8430 HIAE 2 1

cos(90—-0) sin 47’

I T 16 820 T = & 3w S
16. e 3k — 2, 4k — 6 AT k + 2 Teh THIGT Il o hitd e &, 1 k 1 T T hITT | 1
17. (cos 48° — sin 42°) &1 UM A IS | 1

AU

T T ShHINTT : (tan 23°) x (tan 67°) 1

.430/2/3.] 6
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10. A chord of a circle of radius 10 c¢cm, subtends a right angle at its centre.
The length of the chord (in cm) is
(2) > ®) 5v2 (© 102 () 1043 1
V2
Question numbers 11 to 15, fill in the blanks :
11. The value of (tan260° + sin245°) is 1
12. The corresponding sides of two similar triangles are in the ratio 3 : 4, then
the ratios of the area of triangles is 1
13. Value of the roots of the quadratic equation, x2 ~<x~ 6= 0 are 1
14. The area of triangle formed with the origin and the points (4, 0) and (0, 6)
18 1
Q® OR
The co-ordinate of t%%oint dividing the line segment joining the points
A(1, 3) and B(4, %ﬁ?’the ratio2: 1 is 1
@Q
S 0 43°
15. The value of S + C?S 18 1
c0s(90—-0) sin47°
Question numbers 16 to 20, Answer the following :
16. If 3k — 2, 4k — 6 and k + 2 are three consecutive terms of A.P., then find the
value of k. 1
17. Find the value of (cos 48° — sin 42°). 1
OR
Evaluate : (tan 23°) x (tan 67°) 1
| .430/2/3. 7 P.T.O.
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18. 3TRfd-1 H, & Thsi Iai, T 5 O 8 qe fmeh! Brsamd 7 aft gen 3.5 oft €, <6t
PQ 71 AB @1 =i # 1 3fe £ POQ = 30° &, &t STifhd ST BT &het 7T BT | 1

19. 52 Ui I 3=t TR § Bl TS 197 1 T § T ATged Teh Ul [HebTetl T | Teh T
T o FTCIE oh 3T shl TTRIeRdT JTd SHIRTT | 1

20. < usd Brgeit ABC 921 PQR % &=%el shHl: 25 a7 At qom 49 =i &t § | Afe

QR = 9.8 &t 8, @ BC 9@ | 1
N
S
$Q\Q T s -d
. § .
9 AT 21 U 26 deh Tcdeh ¥ 6 2 376 3 |
21. (22 —x + 3) (2 — x) T 9T EIRTT | 9TThST 9T et oft forfaw | 2
1 1 9
22. mwﬁg‘nsmeH—sme 2 sec20 2
AU
2
Tg SHifsu fop - 1—tan26 = c0s20 — sin20 9
1+ tan“6
.430/2/3.] 8
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18. In figure-1 E,’EQ and AB are two arcs of concentric circles of radii 7 cm and

3.5 cm resp., with centre O. If £ POQ = 30° then find the area of shaded

region. 1

19. A card is drawn at random from a well-shuffled pack of 52 cards. Find the
probability of getting a red king. 1

20. Two similar triangles ABC and PQR have their areas 25 cm? and 49 cm?

respectively. If QR = 9\&, find BC. 1
N

Section - B

Question numbers 21 to 26 carry 2 marks each.

21. Divide (2x%2— x +.3) by (2 — x) and write the quotient and the remainder. 2
1 1 )
22. Prove that : - + - = 2 sec“0 2
1+sin® 1-sinB
OR
1-tan’0 .
Prove that : ————— = cos20 — sin20 2
1+tan”0
| .430/2/3. 9 P.T.O.
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23.

24.

25.

26.

217.

28.

29.

A =1 o U IR W, S A W S TS BN shi IRkl FTd T |
Fera

Tl U T 1Y 3BTl MY | T <Y wrfrekan sima i

() S UTE T HE AT 3T 6

(i) < G BT AN 9 ik B i

Teh AT | 10 T 319 AT 25 WTeft & | Teb 34 U bl ITHRIhal 18 7

T gufgaTg S ABC, &H AB = AC 2, T 91 % TIUTd 39 TR & T 99 =1 BC
% P, AC &1 Q a1 AB I R W &13f &tat & | forg Shifsre 7 P el BC w1 smfgymem
HATE |

Th el ohi Frsa1 17.5 8l R | 1 <hi ) e e Uk =i foreeht e 44 8t 2, g
Iieg BreuEve o1 g9%e T il |

g hifsie fos SutES S@ g |

(AT T % JA & 272 41 1032 1 Heww gHTadsh (HCF) 3 Hif |

e x =3 sin O+ 4 cos 0AUTy =3 cos 0 — 4 sin 0 8, A g hRUTF 22 +y2 =25
YA
e sin 0 + sin20 = 1 7, a1 g FHIRT 6 cos20 + cos0 = 1.

T A ABCD o 31=: &7 # U foig P @ 2, a1 g shifae fop
PA? + PC2 = PB2 + PD?

.430/2/3.] 10
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23. In a family of three children, find the probability of having at least two
boys. 2
OR
Two dice are tossed simultaneously. Find the probability of getting
(1) an even number on both dies.
(11) the sum of two numbers more than 9. 2
24. In a lottery, there are 10 prizes and 25 blanks. What is the probability of
getting a prize ? 2
25. An isosceles triangle ABC, with AB = AC, circumscribes a circle, touching
BC at P, AC at Q and AB at R. Prove that the contact point P bisects BC. 2
26. The radius of a circle is 17.5 cm. Find the area of the sector of the circle
enclosed by two radii and an arc 44 cm in length. 2
K\Q® Section — C
Question number@ to 34 carry 3 marks each.
27. Prove that \/_ an irrational number. 3
N\
S or
Using Euclid’s algorithm, find the HCF of 272 and 1032. 3
28. Ifx=3sin 0+ 4 cos0andy=3cos6—4sin 0 then prove that x2+y2=25. 3
OR
If sin 0 + sin?0 = 1; then prove that cos20 + cos*0 = 1. 3
29. In a rectangle ABCD, P is any interior point. Then prove that
PA2 + PC?2 = PB2 + PD2. 3
|.430/2/3.) 11 P.T.O.
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30. 7 Ul SIS 1 Ueh (@GS GITaQ aU1 39 2 @ 3 3 79Td # fawriora shifer | 3
e
4 Gt T3rsa <1 U I WU q 39eh b5 § 7 4l <l gl ot fera weh Wi feig | 9 W
< ol T it | 3

31. fereht sem o, =R fim foigati A, B, C 3R D W &3 3T &, 41 ok SThfa-2  gumia a2
T 3R A HEAT b I AT & 3R $S e T <@ & a1g, =T, Tiel ¥ B 8,
FA qH & Gt 8 foh ABCD T ol 8 77 IHcll 398 HEHd A8l & | g g 1 S

Tk, FAT3T fh ST HH TS B ? 3
10 :
7 L BED
.Cg 5 S 5
632 0 O B ‘
4 S G B, B R0 o
2 \‘\'\Q B Bl
Q\Q®123456.78910
@$ &Y
TR — 2

32. IATIE gRI & hIfT :
2x—3y+13=0;3x—2y+12=0 3

33. 70 x 52 Hi fom137 It Teh ITAATRR e o Teh i 9T 21 H} o« WHi g0 Tk =it
T ST R | TS G T S Tehed ATCT &7 1 &ABA 1T 11T | 3

34. oz feama sgue st FIfe fees sreh! 1 0 G UGS HAT: —3 3 2 8 | 374 3
S ¥ A I 3
430/2/3.| 12
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30. Draw a line segment of length 7 cm and divide it in the ratio 2 : 3.
OR

Draw a circle of radius 4 cm and construct the pair of tangents to the
circle from an external point, which i1s at a distance of 7 cm from its
centre. 3

31. In a classroom, 4 friends are seated at the points A, B, C and D as shown in
Fig. 2. Champa and Chameli walk into the class and after observing for a
few minutes Champa asks Chameli, “Don’t you think ABCD is a square ?”
Chameli disagrees. Using distance formula, find which of them is correct. 3

10

i B@ '

sl o

‘\(-\’ il & DT&[ (G
1.2°3°4 5 6 7 8 9 10

@Q\ Columns
@ Figure - 2

Rows
il \° ALV I NNV, B o) S B o' BN e}

Q
%

32. Solve graphically:
26— 3y+13=0;3x—2y+12=0 3

33. A horse is tethered to one corner of a rectangular field of dimensions
70 m x 52 m, by a rope of length 21 m. How much area of the field can it
graze ? 3

34. Find the quadratic polynomial, the sum and product of whose zeroes are —3
and 2 respectively. Hence find the zeroes. 3

U ———

| .430/2/3. 13 P.T.O.
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35.

36.

37.

38.

39.

40.

Qug -9
9 G 35 T 40 dh Tceh 9 h 4 376 3 |

Th Gl o T [ohll T EST Ueh e, AG] o AL [oh T TS T J&7 o T3RER 1 I~
I 60° UTAT B | e 98 FoRAR & 30 H QT 2, A T8 I~TE HIU 30° U1 & | I§

FeITg a1 ) < =SS T BT | [+/3 = 1.732 wif)

ST 15 G a1 A 16 T aTcl T 319 9o § § 361 SaTs 3R 3 S a1l Th
YRR @ieT IS o1 STt 2 | I & 319 1 Ul IS Sl 1d hifoTg, | (37T
ENIEE R RIS 1)

Jera
T I I HA1E 10 T B | 39 I hl IEEHI HTS b ST H &R I gY TH ad o
T YT T 1T T &, STeleh It 1% o SR o JUTA & | QT W1} o ST b1 31U
1 ST |

forg HITT o 31 Ty BTl o eThell o1 S STeh! ST ST % &l % J1UTd %
A BT S |

AYA

$
mﬁmﬁmm%@%mwnﬁmwmﬁwwm%|
¥

S
o T 31 QAT T T 8 3 e 6 T & 5 1 | T v i 3 ¢ 114
TG 43 #, T Sl nal TE A HIT |

ST
IR AL 3,5, 7,°9; ... o fehda TS 1 TTHA 120 BT ?

T SRATTA 9quTTeh W & foh Tget o @l qm 311 1 o UM ol SIS W 46 JTed BIal
2 | qurfes 3ma IR |

T Sea %1 91w 31 i
i 10—-25 | 25—-40|40-55|55-70|70—-85 | 8 — 100

ARERAT 2 3 7 6 6 6
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35.

36.

37.

38.

39.

40.

Section - D
Question numbers 35 to 40 carry 4 marks each.

A person standing on the bank of a river observes that the angle of
elevation of the top of a tree standing on opposite bank is 60°. When he
moves 30 m away from the bank, he finds the angle of elevation to be 30°.

Find the height of the tree and width of the river. [Take V3 =17 32]

From a solid cylinder whose height is 15 cm and the diameter is 16 cm, a
conical cavity of the same height and same diameter is hollowed out. Find
the total surface area of remaining solid. (Give your answer in terms of m)

OR

The height of a cone is 10 cm. The cone is divided into two parts using a
plane parallel to its base at the middle of its height. Find the ratio of the
volumes of the two parts.

Prove that the ratio of the areas of two similar triangles is equal to the
ratio of the squares of their corresponding sides.

OR

Prove the length of tag&@ts drawn from an external point to a circle are
equal. %
S
The 17th term Q\Qn A.P..18.5 more than twice its 8th term. If 11th term of
A.P.1s43;t find its ntt term.
OR

How many terms of A.P. 3, 5, 7, 9, ... must be taken to get the sum 120 ?

Three conseeutive positive integers are such that the sum of the square of
the first and the product of the other two i1s 46. Find the integers.

Find the mean of the following distribution :

Class 10-25|25-40|40-55|55—-70 | 70 -85 | 85— 100
Frequency 2 3 7 6 6 6

U ———
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